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Questions: focused on cryptocurrency

• What is it? A currency? An asset? A fad?

• What is its (fundamental?) value? Economic function?

• What are the risks? How to regulate it?
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Perspective here

• innovation: (decentralized) commitment

• commitment is used to provide (equity) incentives for adop-

tion
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Simple example

• two individuals, two periods

• in period one, only one individual is aware of a new technol-

ogy (blockchain)

• in period two, the second individual becomes aware of the

new technology with probability λ
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Simple example

• outside option is normalized to 0

• there is a cost of adoption c > 0

• the period utility from adopting is a sum of private value u

and an externality v.
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Simple example

• We assume that 0 < 2u + λv < c, u = u if both individuals

use the technology and u = 0 otherwise, and u+ v > c

This implies (a) that both individuals are happy to adopt in

the second period if they expect the other one to adopt and

(b) that the first individual is not willing to adopt in the first

period
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Simple example

• There are multiple equilibria with or without adoption in the

second period

• In all equilibria, no adoption in the first period
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Example with cryptocurrency

• We now introduce an asset and commit to limit its total

emission at 1.

• The value of the asset is provided by the technologies ”legal

tender”: the asset is required as a means of payment to use

the technology.

• We exogenously fix that the asset pays δ units of utility in

the last period by taxing the economy using the technology.

27



Example with cryptocurrency

• We now can allow the technology to determine the amount

of asset M1 ≤ 1 to be allocated to the early adopter in the

first period.

• If M1 is sufficiently high (> 1/2), then there exists an equi-

librium in which the technology is adopted in the first period.

This equilibrium can be made unique if v is sufficiently large.
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What’s new?

• commitment to the supply and taxation rule (at a low cost)
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